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GRAMMAR - PRE-INTERMEDIATE 2
For each of the six questions choose the one correct answer

Which of the following is factually and grammatically correct?
China is bigger as England.

China is more bigger than England.

England is as big as China.

China is bigger than England.

ook

She lit a fire because she so cold.
fell

felt

feel

fallen

aooTonN

Which of these is correct?
our’s

theres

your'e

you're

0T oW

A: ? B: Oh, about 20 minutes.
What time is it?

How long does it take?

How many?

How long time is it?

oooTo ks

| hate buying flowers, they always
die

death

dead

died

ooy

A: | can't ride a bike. B:
Neither can't I.

Socan'tl.

Neither can I.

So can .

oo
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aeooTon oo

Qoo oo N cooTpw

cowo

o

Wrong. ‘Is bigger as’ is not grammatically correct.

Wrong. ‘Is more bigger than’ is not grammatically correct.

Wrong. This is not factually correct - England is NOT as big as China.
Correct.

Wrong. ‘Fell’ is the past of ‘to fall'.

Correct. ‘Felt’ is the past of ‘to feel'.

Wrong. ‘Feel’ is the present of ‘to feel'.
Wrong. ‘Fallen’ is the past participle of ‘to fall’.

Wrong. ‘Ours’ means belonging to us. E.g. That house is ours.
Wrong. ‘There’s’ means ‘there is’.

Wrong. “Your’ means belonging to you. E.qg. Is that your book?
Correct. ‘You'’re’ means ‘you are’.

Wrong.

Correct. E.g. ‘How long does it take to get to school?’ ‘20 minutes by
bus.’

Wrong.

Wrong.

Correct. Flowers always die. (verb, present tense)

Wrong. Flowers always death (noun) is not correct.

Wrong. Flowers always dead (adjective) is not correct.

Wrong. | hate buying flowers, they always died (past tense) is not correct.

Wrong.

Wrong.

Correct. If we agree with a negative statement (can’t), we use neither +
positive (can).

Wrong.
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